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Slab span-length

* x 108

2.0m 2.5m 3.0m 3.5m 4.0m - 2

Thickness (cm) 25 29 33 35 39 0541400 kg/cm

Tmpact(T41) 1.385 1.381 1.377 1.374 1.370 Gea= 80 kg/cn?
MxT_ {tm) 5.097 6.130 7.158 8.185 9.201

Mxd_ (tm) 0.313 0.566 0.978 1.340 1.950 Main bar.---D19
ZMx_ (tm) 5.410 6.696 8.086 9.525 11.151

Wxs_ (cm 384.6 478.3 577.6 680.4 796.5 Trans. bar-----D13
Asx (cm 21.25 22.04 57.96 74.96 26.05

!
)
Dx (kg cm?) 10300x10° 15800x10° 22900x10° 28500x10° 38700x10° Safety factor
) =1.15

M {tm)] 1.147[(1.435)| 1.271((1.820)| 1.394](2.142)] 1.517](2.536)| 1.639] (3.041)
Wys  (cm®){81.9 102 5)/90.7 |(130.0)[99.6 |(153.0)
Ays (cm?)14.87 {{5.76 )| 4.22 [(6.05 )| 4.22 |(6.05 )[4.22 [(6.69 )[4.22 |(7.04 ) N 5
Dy (kg cn?)| 2880% (3080*) 3590% (4740*) 5030* | (6870%)| 5840% | (8540%) 7670%| (116209 | s=ta—ce—-
) ) )
) ) )
) ) )

108.41(181.1)[117.1](217.2) Main bar

Ays/Axs 0.2291(0.271); 0.191/(0.272)/ 0.184(0.265)} 0.169(0.268); 0.162](0.270)
My / Mx 0.212/(0.265)} 0.190[(0.274)[ 0.772}(0.264)|0.159(0.266)| 0.147](0.272) -
Dy / Dx 0.281](0.3 0.227](0.3 0.219[(0.3 0.205/(0.3 }[0.7198](0.3 )

Trans. bar
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